

Managers' Transactions in Fiscal Year 2023

(as of May 22, 2023)

Date/Place	Name/Reasons for Disclosure	Security	ISIN	Type of Transaction	Currency/ Price	Quantity	Total Amount
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.70	258	ÊUR 13,854.60
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.70	742	EUR 39,845.40
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.59	1,000	EUR 53,590.00
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos,	Share	DE000BAY0017	Purchase	EUR 53.58	302	EUR 16,181.16

	Board of Management						
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.58	126	EUR 6,751.08
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.58	50	EUR 2,679.00
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.58	522	EUR 27,968.76
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.58	757	EUR 40,560.06
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.58	243	EUR 13,019.94

May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.60	164	EUR 8,790.40
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.60	836	EUR 44,809.60
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.58	464	EUR 24,861.12
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.58	486	EUR 26,039.88
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.60	1,000	EUR 53,600.00
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.58	50	EUR 2,679.00

May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.60	1,000	EUR 53,600.00
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.59	97	EUR 5,198.23
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.59	903	EUR 48,391.77
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.61	1,000	EUR 53,610.00
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.58	999	EUR 53,526.42
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.58	1	EUR 53.58

May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.56	613	EUR 32,832.28
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.56	387	EUR 20,727.72
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.50	494	EUR 26,429.00
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.50	506	EUR 27,071.00
May 17, 2023 Xetra	Rodrigo Peixoto dos Santos Board of Management	Share	DE000BAY0017	Purchase	EUR 53.49	1,000	EUR 53,490.00
May 16, 2023 Over the counter (OTC)	William N. Anderson, joint account with Catherine F. Anderson (wife) Board of Management	Share	DE000BAY0017	Purchase	USD 14.671707	164,000	USD 2,406,159.95

May 16, 2023 Over the counter (OTC)	Indigo Wealth LLC, person closely associated to Sarena Lin, Board of Management	Share	DE000BAY0017	Purchase	USD 14.6400	1,835	USD 26,864.40
May 16, 2023 Over the counter (OTC)	Indigo Wealth LLC, person closely associated to Sarena Lin, Board of Management	Share	DE000BAY0017	Purchase	USD 14.6450	2,500	USD 36,612.50
May 16, 2023 Over the counter (OTC)	Indigo Wealth LLC, person closely associated to Sarena Lin, Board of Management	Share	DE000BAY0017	Purchase	USD 14.6499	9,665	USD 141,591.2835
March 3, 2023 Over the counter (OTC)	Ertharin Cousin Supervisory Board	Share	DE000BAY0017	Purchase	USD 15.27	4,850	USD 74,059.50
March 1, 2023 Xetra	Prof. Dr. Norbert Winkeljohann Supervisory Board	Share	DE000BAY0017	Purchase	EUR 56.2750	2,132	EUR 119,978.30
March 1, 2023 Xetra	Dr. Barbara Gansewendt Supervisory Board	Share	DE000BAY0017	Purchase	EUR 56.2750	562	EUR 31,626.55

March 1, 2023 Xetra	Horst Baier Supervisory Board	Share	DE000BAY0017	Purchase	EUR 56.2750	1,776	EUR 99,944.40
March 1, 2023 Xetra	Dr. Paul Achleitner Supervisory Board	Share	DE000BAY0017	Purchase	EUR 56.2750	1,776	EUR 99,944.40
February 1, 2023 Over the counter market (OTC)	Dr. Norbert W. Bischofberger Supervisory Board	Share	DE000BAY0017	Purchase	EUR 15.665	2,000	USD 31,330.00
January 19, 2023 Xetra	Alberto Weisser Supervisory Board	Share	DE000BAY0017	Purchase	EUR 55.70	1,077	EUR 59,988.90